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S.Tolstoy, «The Chess Players of Russia»,
1989 Nel2

1. @d5 [5.0]

Y. Gartong «Problemblad», 1951 3 prize

1. Whe [5.0]

V. Shanshin «Chess in USSR», 1988 Ne6

1. @d6 [5.0]
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A.Azhusin (Omsk) ""64", 1968 Ne2

1. &g5

1...42g6 2. W7 [1.0]
1... 07 2. Wixf7[1.0]
1... D3 2. Wxf3[1.0]
1...40c2 2. Wf3[1.0]
1...20d3 2. We411.0]

A. Kuzovkov lll World Team Championship
1.8 vyrposa2. Ee5 [1.25]

1... Wc8 2. 8= [1.25]
1... Wp8 2. e8=W [1.25]
1...4 2. Bf6[1.25]

M. Marandjuk "64" 1979 Ne41

1.9c8 ugroza 2.Wxd6 [1.25]
1... Exe22. b6 [1.25]
1...H2a62. Ed4 [1.25]
1...2c62. Ed4 [1.25]
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V. Bron «Russian Chess players», 1989 Nel2

1. Ab6 [1.0] Dxb6 2. Hxb6 Nb3 3. Hc6
Na5 4. Bb5 [2.0] Db7 5. Dcb6 L3 6. Bc7
Df5 7. £97 [1.0] Deb 8. £18 Leb5 9. £g7
&f510. £h6 [1.0]De5

(10... 216 11. &4 Deb 12. £g3=)

11. 897 Deb 12. 28 =

Charles M. Bent «Chess in USSR»,1990 Ne5

1. »d7[1.0] Wd6

[1... We7]
2. Db6 Wxb6 3. Hxbb6 b2 4. &c2 a2 5.
£b1[1.5] al=&

[5... &7 6. £xa2]
6. g8=% [1.5] &.xa4

[6... 247 7. 6]
7. De7 £b3 8. Ng6 La4 9. Hf4 £b3 10.
?e6 [1.0]

V.Vlasenko «Chess» (Riga)1973 1 prize, 1975Nel

1. 8h6 [1.0]8.96 2. £f4 ©c8 3. £d2 [1.0]
£h54.c4 £965.c58h56.c6 £g67. a5
#c1 8. £d8 [1.0] 2d3 9. c7 Le4 10. 18=A
[1.0]12g5 11. Dh7 [1.0] =
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h#5 xonoB 2 solution

Chris Feather Broodings 2003

1. Bxf7 exf8=W 2.bxe6 Wxi7# @
1.8xe7 8f42.8¢c5 e7#@
1.c5 exd8=% 2.Wxe6 Lxeb#@

@-15@@ - 3,0 @0@@- 5,0

‘Alexandre Pankratiev, Olexandr Shvichenko
""Uralskie Skazy'" 2000 4 Prize

1.8xe6 Dxd7 2.2d5 Exe4 3.Hxed H\f6# @
1.Exeb Dxg4 2.2d5 Dxe5 3.xe5 Ef5# @
1.2)x6 £xg4 2.2d5 Exed 3.xed £3# @

@-1,50@-3,00@@-5,0

Janos Csak “Orbit 20077 1
recommanded

1.&xh2 &f1 2.82g2 h4 3.%h3 el 4.2g4
2f2  5.8h3 Le2# [2.5]

1.2xg2 g4 2.2g3 &f1 3.8xe4 dxed 4.h4
g2 5.d3 Df3# [2.5]
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Y. Vladimirov, S. Fedjakov
IC T.Zirs 1992 1 prize, «64-CR» 2002,Ne2

1. Waq (ugroza 2.Wa3+ b4 3. Whax)
1... b4 2. We1 (ugroza 3.2f5+[0.45])
ANd5

[2... Wxe3 3. Ed7[0.45]

3. Dxc4 [0.45]
1... 8b2 2. W35 (ugroza 3.Wh4+[0.45]) Ha2
(2... Dd5 3. Wxb5[0.45]) 3. Ed7 [0.45]
1... Dd5 2. Wxa3 b4 3. Wa5 [0.45]
1... b4 2. Wg1 (ugroza 3. Dc4+[0.45]) Dd5
3. 5 [0.45]
(2... Wxe3 3. Wxe3 [0.45]; 2... Ded 3.
&A\f5[0.45])
1... 8c1 2. Wxc3 (ugroza 3. Wb4 and
Wd3)[0.5]

A. Popandopolo « Evening Kiev » 1965 1 prize
«Chess in USSR» 1988 Ne8

1. Enh8
1... d62.9Dedd53. 8c7 [2.5]
1...d52. 2d1d4 3. Db7 [2.5]

A.lokhandl (Austria) Competition in memory of
K. Betinhs «Chess» (Riga), 1967 Nel18

1. Wp3 di1=2 2. &5 Haq 3. We4
Eaxca

(3... Ecxc4 4. Nd4 [0.75])

4. Dc7 [0.75]

1... f1=Q) 2. Hh5 Ha4 3. Wca Haxcs (3...
Ecxcd 4. D4 [0.75]) 4. &\c7 [0.75]

1... Had 2. Wxe3 Hed 3. Hxed d4 4. Hc3
[2.0]
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Laszly Talaber Problemista 1967
2-3 Recommanded

1. Db4ugroza2. &c7+ @
1... Exe5 2. Wd7+ @
1... Eh5 2. Wxe6+ @
1... Eg52. Wxe6+ @
1... D6 2. Wixe6 + @
1...Dg7 2. Exe6 + @
1... Exb8 2. Exe6+ @
@'097 @@ = 1’5 @@@ = 292
@@@@ - 3,0 de@@@ - 3,7
@@@@e@@ - 4,3 @we@@@@® -5.0

Hartmut Laue
136 T.T. British Chess Federation
1973-74, 3 Prize

1. Ec3 ugroza 2. Hxe4 Sxe4 3. Exd4 @
1... Df2 2. Dxg5 2c5 3. DNgxed+@
1...e3 2. Oi5 He4d 3. Ng3 +@

@-1,5 @@-30 @@@-5,0

Michael Barth «Problem-Forum 2001»
1 Mention d'Honneur

1. d5! ugroza 2. 295 &xeb5 3. &6 x5 4.
8xd3+@

1... Wxe3 2. &xg3 W4 3. Exf4 dxe5 4. Ehs
+@

1... 9d6 2. 2b3 Hc4 3. Exca &xd5 4. Eb4
+@

1... De7 2. £2b5 Hxd5 3. Wds Hc5 4.
Nxd3+ @

@'1725 @@ = 235 @@@ - 3975

@@@@ - 5,0



A. Suetin Memorial 2021 (Russia, Tula 04.01.2021-05.01.2021)
Problems Difficulty (28 Solvers)

ID|Tag|Difficulty [Average|5(Correct Solution)|0 < Pts. < 5|0 (Wrong Solution)|- (No Solution)
13| #4 942 0.29 0 5 9 14
18| S#4 910] 0.45 1 2 7 18
12|H#5 9101 045 2 1 2 23
17| S#3 846| 0.77 4 1 6 17
11|H#3 792 1.04 4 4 1 19
15] #5 7721 1.14 4 6 2 16
= 764 1.18 2 14 10 2
#3 750] 1.25 4 6 9
10|H#2 7281 1.36 4 8 9
= 708] 1.46 1 18 9 0
#3 678| 1.61 4 9 12 3
16| S#2 676| 1.62 6 4 7 11
+ 660| 1.70 0 22 6 0
#2 642 1.79 10 0 7 11
#3 5921 2.04 8 5 11 4
14| #4 590 2.05 11 1 12
#2 392 3.04 17 0 5
2| #2 358| 3.21 18 0 3

| Created by WFCC Solving Tournament Manager |




